oAty = ¥ - 2(k-3)x + 49 THPLI} xF A& TE F
HollA e w, 4= ko] grel el
@ k<1 @ 1<k<3

® k<3 @ 3<k<5

® k<1EE=%k>5



=2 = -2 +kx S$HAdy=x+1 0] AZ TE F HofA
1 Stk o] T

D k>2 k<-1 @ k>3, k<-1 ® k>1, k<-1

@ k>3, k<-2 ® k>3, k<-3



% bax+2a 9 THEE x F3F A A, BolH Wi
(BE A% a9 39 & Fotoler



ojxFgHe y = f(x) o ZE=7} ohg TRt
22, A f(P-1) =0 9 A= the
Ao =7

@® 174 @ 271 ® 371

@ 474 ® 571

\

y=f(z)

NG







6. xOWAA [x—1|+|x-3=a’t A2 2 5 Ao AL 7}pA
A% a 2] Zhel W9

D a<1 @ a>1 ® a<?2 @ a>2 ® a<3



@ k>4 @ 3<k<4

® 0<k<4



’y=/f(m)
3

\|

a3}

o
OIAHA f(20-1) =02 F 2

m7} o

f(x)e 1=

y

o N or

®1

@ 0

® 3

@ 2



A f(x) = x3—2x% +ax+b O] DI} g(x) = 3x -4 ©] T 7}
Mz o2 Al A (x,31), (x2,2), (x3,y3) oA TR g, o] of
y1+ye +ys o 27

@® -6 @ -5 ® -4 @ -3 ® -2



10.

rr

Ohe 13 2ol y = x? —6x+10 o] 2 Z7F A4 y = ax 9F W=
T ago] x ZE7F A4ZE 1, a °o]a A y = bx oF Thhs F 29

x FYE7}F 247E g, 4 A g+% o] 3 o2,

y=x2+6x+ 10




